
72” Welded Frame Hemisphere® Fan 
972050

Bolted Frame Conversion Quick Sheet

©2023 Valco Industries, Inc.

990284
     REV [A]

NOTE: Customer supplied components to be reused from existing Hemisphere Fans include: fan body, motor, motor 
sheave, driven sheave, auto tensioner, wire guard assembly and all associated mounting hardware.

ITEM # PART # QTY DESCRIPTION
972050 CONVERSION KIT - PARTS LIST

7 936054 4 3/8-16 NYLOK NUT
8 972021 1 FLANGE BEARING, FOR .75” SHAFT
9 972055 1 1.0” DIA SHAFT, FOR HEX BEARING

10 972093 1 AX112 V BELT, COGGED
11 972195 1 72” HEMI FAN FRAME ASSEMBLY
12 ZV7611 1 3/16” X 3/16” X 1-5/16” KEY

ITEM # PART # QTY DESCRIPTION
972050 CONVERSION KIT - PARTS LIST

1 010253 4 3/8” SPLIT LOCK WASHER
2 010430 4 3/8” FLAT WASHER
3 010662 4 3/8” X 3/4” HEX HEAD BOLT
4 690295 1 EXTERNAL RETAINING RING
5 690309 4 3/8-16 X 1-1/4” CARRIAGE BOLT
6 936026 1 3/8-16 X 1-1/4” FLANGE HEX BOLT

10

5

7

12

3

1

9

6 Motor

Driven Sheave & Bushing
Wire Guard

Motor Sheave 
& Key

11

Tensioner

8

2
4

NO STEP!
If chimney is used in 
a space with human 
access, safety rails 
must be added 
around chimney 
opening. 

(If using optional attic inlet)

Fan Body


